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3. Solutions for R-exercise 4
>y=UKDriverDeaths

#In order to get the units (months) numbered from 1 to 192:

>y=as.vector(y)

>y

[1] 1687 1508 1507 1385 1632 1511 1559 1630 1579 1653 2152 2148 1752 1765 1717
[16] 1558 1575 1520 1805 1800 1719 2008 2242 2478 2030 1655 1693 1623 1805 1746
[31] 1795 1926 1619 1992 2233 2192 2080 1768 1835 1569 1976 1853 1965 1689 1778
[46] 1976 2397 2654 2097 1963 1677 1941 2003 1813 2012 1912 2084 2080 2118 2150
[61] 1608 1503 1548 1382 1731 1798 1779 1887 2004 2077 2092 2051 1577 1356 1652
[76] 1382 1519 1421 1442 1543 1656 1561 1905 2199 1473 1655 1407 1395 1530 1309
[91] 1526 1327 1627 1748 1958 2274 1648 1401 1411 1403 1394 1520 1528 1643 1515
[106] 1685 2000 2215 1956 1462 1563 1459 1446 1622 1657 1638 1643 1683 2050 2262
[121] 1813 1445 1762 1461 1556 1431 1427 1554 1645 1653 2016 2207 1665 1361 1506
[136] 1360 1453 1522 1460 1552 1548 1827 1737 1941 1474 1458 1542 1404 1522 1385
[151] 1641 1510 1681 1938 1868 1726 1456 1445 1456 1365 1487 1558 1488 1684 1594
[166] 1850 1998 2079 1494 1057 1218 1168 1236 1076 1174 1139 1427 1487 1483 1513
[181] 1357 1165 1282 1110 1297 1185 1222 1284 1444 1575 1737 1763

>N=192

# since n=24, k=8

> k=8

> start=sample(k,1)

> start

[1]4

> s=seq(start,N,k)

>

[1] 4 12 20 28 36 44 52 60 68 76 84 92 100 108 116 124 132 140 148
[20] 156 164 172 180 188

>yls]

[1] 13852148 1800 1623 2192 1689 1941 2150 1887 1382 2199 1327 1403 2215 1638
[16] 1461 2207 1552 1404 1726 1684 1168 1513 1284

#Both estimates are the same:
> mean(y[s])

[1]11707.417

# true value:

> mean(y)

[1] 1670.307



4

t) L e=> 8P

Acscne THN=T (x)=t . e waust thowe Kok

m C\:_—,xt\ =T (B, %) vne WV

We Move Ay (&) = Q& (X=x)= \Béb\_\:‘-ﬁ)-_% (T=+)

W (%)

Axi) = Pa (X=xs) = P (k=x\T=4) Pe (V=)

\(\\ ‘wz )
ewea

R (6) /R (&) W M) v pvepodiomal Wekibodd

| ol kvean LB Fr fatioses Saek T(E =T (C x)

x L \
AL o= 2+ 1260 = T Ay, &)
o L i (- A r— i
BRI S 5 — S w S B LG =R o

"

) Fan : N )
4t Weyedk Ho % X FCo

P- el = ?% M29) = 2093, o1z0

=5

El: Qeied \‘Lo CI\ \‘\/

- dedus = P (_ (. =D)

=

\ i i =
LT X e Mu viewmber ok Sttt Lw N div gk

V| &jow \’( vs boiwewated (A0, N v, " =

Nyt Q> X2 %

Mexnce PC\{1>/9\,: Qb( (= 9) oowmel Vel W

\\
W

e, 5 LMy ~n=z
Fad )T AR = S e

N
P
T
’-<’

=



By

59 < &_%_cc_glx ey

(h \’/2‘ ‘O - =
- ]) & (s)=152
L (:) D‘L(\W.\au\_—\—(
= !- A=y ____\ = oA _____e_)__ Ty fL’L
—=Ltx A | TR e s A0 il

9
Y= (e - e




